## Bid Results - John Hermiller Main & Branch #996

MAIN	Joe and Joe Contracting			
Item No.	Qty.	Unit	<b>Unit Price</b>	Total Price
1	1,456	FT	\$29.00	\$42,224.00
2	5,699	FT	\$18.00	\$102,582.00
3	712	FT	\$14.00	\$9,968.00
4	1,370	FT	\$10.00	\$13,700.00
5	1	24"	\$1,551.00	\$1,551.00
6	1	30"	\$1,830.00	\$1,830.00
7	1	30"	\$1,025.00	\$1,025.00
8	9,252	FT	\$1.00	\$9,252.00
9	9,252	FT	\$1.00	\$9,252.00
10	1	4"	\$400.00	\$400.00
	1	6"	\$400.00	\$400.00
	1	8"	\$650.00	\$650.00
	1	10"	\$650.00	\$650.00
11	9,163	FT	\$1.25	\$11,453.75
12	2	BASIN	\$2,035.00	\$4,070.00
13	2	BASIN	\$2,593.00	\$5,186.00
14	3	BASIN	\$2,871.00	\$8,613.00

1 2	<b>Qty.</b> 6,503 624	Unit FT FT	Unit Price \$18.00	
-			\$18.00	<b>0447.054.00</b>
2	624	СT		\$117,054.00
		ГΙ	\$14.00	\$8,736.00
3	624	FT	\$11.00	\$6,864.00
4	800	FT	\$8.00	\$6,400.00
5	720	FT	\$7.00	\$5,040.00
6	2	15"	\$1,341.00	\$2,682.00
7	2	18"	\$1,392.00	\$2,784.00
8	1	18"x15"	\$808.00	\$808.00
9	1	15"x12"	\$770.00	\$770.00
10	1	12"x10"	\$721.00	\$721.00
11	9,255	FT	\$1.00	\$9,255.00
12	9,255	FT	\$1.00	\$9,255.00
13	1	4"	\$400.00	\$400.00
	1	6"	\$400.00	\$400.00
	1	8"	\$650.00	\$650.00
	1	10"	\$650.00	\$650.00
14	7,735	FT	\$1.25	\$9,668.75
15	2	BASIN	\$2,111.00	\$4,222.00

Main & Branch \$409,166.50

MAIN \$222,806.75

BRANCH \$186,359.75

MAIN		Sand Ridge Excavating			
Item No.	Qty.	Unit	<b>Unit Price</b>	<b>Total Price</b>	
1	1,456	FT	\$30.88	\$44,961.28	
2	5,699	FT	\$21.40	\$121,958.60	
3	712	FT	\$10.85	\$7,725.20	
4	1,370	FT	\$12.83	\$17,577.10	

BRANCH		Sand Ridge Excavating		
Item No.	Qty.	Unit	<b>Unit Price</b>	Total Price
1	6,503	FT	\$22.00	\$143,066.00
2	624	FT	\$16.53	\$10,314.72
3	624	FT	\$12.83	\$8,005.92
4	800	FT	\$10.85	\$8,680.00

Main & Branch \$446,396.91

5	1	24"	\$280.26	\$280.26
6	1	30"	\$378.84	\$378.84
7	1	30"	\$336.29	\$336.29
8	9,252	FT	\$1.00	\$9,252.00
9	9,252	FT	\$1.00	\$9,252.00
10	1	4"	\$100.00	\$100.00
	1	6"	\$120.00	\$120.00
	1	8"	\$140.00	\$140.00
	1	10"	\$160.00	\$160.00
11	9,163	FT	\$1.20	\$10,995.60
12	2	BASIN	\$1,270.00	\$2,540.00
13	2	BASIN	\$1,556.00	\$3,112.00
14	3	BASIN	\$2,488.00	\$7,464.00

5	720	FT	\$10.05	\$7,236.00
6	2	15"	\$213.37	\$426.74
7	2	18"	\$238.60	\$477.20
8	1	18"x15"	\$265.52	\$265.52
9	1	15"x12"	\$257.72	\$257.72
10	1	12"x10"	\$249.92	\$249.92
11	9,255	FT	\$1.00	\$9,255.00
12	9,255	FT	\$1.00	\$9,255.00
13	1	4"	\$100.00	\$100.00
	1	6"	\$120.00	\$120.00
	1	8"	\$140.00	\$140.00
	1	10"	\$160.00	\$160.00
14	7,735	FT	\$1.20	\$9,282.00
15	2	BASIN	\$1,376.00	\$2,752.00

MAIN \$236,353.17

BRANCH \$210,043.74

MAIN	Liebrecht Farm Drainage			
Item No.	Qty.	Unit	Unit Price	Total Price
1	1,456	FT	\$29.40	\$42,806.40
2	5,699	FT	\$22.35	\$127,372.65
3	712	FT	\$17.09	\$12,168.08
4	1,370	FT	\$11.98	\$16,412.60
5	1	24"	\$900.00	\$900.00
6	1	30"	\$1,400.00	\$1,400.00
7	1	30"	\$1,000.00	\$1,000.00
8	9,252	FT	\$1.00	\$9,252.00
9	9,252	FT	\$0.50	\$4,626.00
10	1	4"	\$100.00	\$100.00
	1	6"	\$150.00	\$150.00
	1	8"	\$200.00	\$200.00
	1	10"	\$250.00	\$250.00

BRANCH	Liebrecht Farm Drainage			
Item No.	Qty.	Unit	<b>Unit Price</b>	Total Price
1	6,503	FT	\$22.35	\$145,342.05
2	624	FT	\$17.09	\$10,664.16
3	624	FT	\$11.98	\$7,475.52
4	800	FT	\$8.39	\$6,712.00
5	720	FT	\$7.50	\$5,400.00
6	2	15"	\$800.00	\$1,600.00
7	2	18"	\$830.00	\$1,660.00
8	1	18"x15"	\$860.00	\$860.00
9	1	15"x12"	\$840.00	\$840.00
10	1	12"x10"	\$825.00	\$825.00
11	9,255	FT	\$1.00	\$9,255.00
12	9,255	FT	\$0.50	\$4,627.50
13	1	4"	\$100.00	\$100.00

Main & Branch \$440,072.46

11	9,163	FT	\$0.75	\$6,872.25
12	2	BASIN	\$1,300.00	\$2,600.00
13	2	BASIN	\$1,600.00	\$3,200.00
14	3	BASIN	\$1,800.00	\$5,400.00

	1	6"	\$150.00	\$150.00
	1	8"	\$200.00	\$200.00
	1	10"	\$250.00	\$250.00
14	7,735	FT	\$0.75	\$5,801.25
15	2	BASIN	\$1,800.00	\$3,600.00

MAIN \$234,709.98

BRANCH \$205,362.48

MAIN	Gerding Ditching			
Item No.	Qty.	Unit	Unit Price	<b>Total Price</b>
1	1,456	FT	\$41.75	\$60,788.00
2	5,699	FT	\$22.00	\$125,378.00
3	712	FT	\$17.00	\$12,104.00
4	1,370	FT	\$13.00	\$17,810.00
5	1	24"	\$400.00	\$400.00
6	1	30"	\$825.00	\$825.00
7	1	30"	\$375.00	\$375.00
8	9,252	FT	\$0.75	\$6,939.00
9	9,252	FT	\$0.65	\$6,013.80
10	1	4"	\$100.00	\$100.00
	1	6"	\$100.00	\$100.00
	1	8"	\$100.00	\$100.00
	1	10"	\$100.00	\$100.00
11	9,163	FT	\$0.85	\$7,788.55
12	2	BASIN	\$1,500.00	\$3,000.00
13	2	BASIN	\$1,900.00	\$3,800.00
14	3	BASIN	\$2,150.00	\$6,450.00

BRANCH	i		Gerdir	ng Ditching
Item No.	Qty.	Unit	<b>Unit Price</b>	Total Price
1	6,503	FT	\$22.00	\$143,066.00
2	624	FT	\$17.00	\$10,608.00
3	624	FT	\$13.00	\$8,112.00
4	800	FT	\$8.50	\$6,800.00
5	720	FT	\$7.00	\$5,040.00
6	2	15"	\$400.00	\$800.00
7	2	18"	\$420.00	\$840.00
8	1	18"x15"	\$175.00	\$175.00
9	1	15"x12"	\$150.00	\$150.00
10	1	12"x10"	\$100.00	\$100.00
11	9,255	FT	\$0.75	\$6,941.25
12	9,255	FT	\$0.65	\$6,015.75
13	1	4"	\$100.00	\$100.00
	1	6"	\$100.00	\$100.00
	1	8"	\$100.00	\$100.00
	1	10"	\$100.00	\$100.00
14	7,735	FT	\$0.85	\$6,574.75
15	2	BASIN	\$1,500.00	\$3,000.00

Main & Branch \$450,694.10

MAIN \$252,071.35

BRANCH \$198,622.75

MAIN Fenson Contracting BRANCH Fenson Contracting

Main & Branch

\$5	63	,37	n	20	
Ψυ	UJ	, , ,	U	۰۷,	

Item No.	Qty.	Unit	<b>Unit Price</b>	Total Price
1	1,456	FT	\$41.00	\$59,696.00
2	5,699	FT	\$30.50	\$173,819.50
3	712	FT	\$19.00	\$13,528.00
4	1,370	FT	\$16.00	\$21,920.00
5	1	24"	\$200.00	\$200.00
6	1	30"	\$345.00	\$345.00
7	1	30"	\$280.00	\$280.00
8	9,252	FT	\$0.50	\$4,626.00
9	9,252	FT	\$0.50	\$4,626.00
10	1	4"	\$250.00	\$250.00
	1	6"	\$280.00	\$280.00
	1	8"	\$310.00	\$310.00
	1	10"	\$340.00	\$340.00
11	9,163	FT	\$0.90	\$8,246.70
12	2	BASIN	\$1,500.00	\$3,000.00
13	2	BASIN	\$1,700.00	\$3,400.00
14	3	BASIN	\$2,000.00	\$6,000.00

Item No.	Qty.	Unit	Unit Price	Total Price
1	6,503	FT	\$30.50	\$198,341.50
2	624	FT	\$19.00	\$11,856.00
3	624	FT	\$16.00	\$9,984.00
4	800	FT	\$14.00	\$11,200.00
5	720	FT	\$13.50	\$9,720.00
6	2	15"	\$95.00	\$190.00
7	2	18"	\$105.00	\$210.00
8	1	18"x15"	\$150.00	\$150.00
9	1	15"x12"	\$135.00	\$135.00
10	1	12"x10"	\$120.00	\$120.00
11	9,255	FT	\$0.50	\$4,627.50
12	9,255	FT	\$0.50	\$4,627.50
13	1	4"	\$250.00	\$250.00
	1	6"	\$280.00	\$280.00
	1	8"	\$310.00	\$310.00
	1	10"	\$340.00	\$340.00
14	7,735	FT	\$0.90	\$6,961.50
15	2	BASIN	\$1,600.00	\$3,200.00

MAIN \$300,867.20

BRANCH \$262,503.00